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The sides of a triangular co�ee table measure 42 inches by 42 inches. The base is 50 inches.
Find the area of the tabletop. 

The base of a triangular gra!ti image is 34 feet. What is the area if the two equal sides
measure 29 feet each?
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7 inWhich of the following is the area of the Isosceles triangle?

a) 15.04 in2 c) 23.46 in2b) 24.49 in2

4)

5) Which of the following is the area of the Isosceles triangle?

b) 238.56 ft2 c) 248.76 ft2277.31 ft2a)
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Find the area of each isosceles triangle. Round your answer to two 

decimal places.
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